FAGEIERFP SNV AKE (5-65F) AREH RN N 2022412831
e s 9: 00AfEE 10 : 30AEE
No F—L% =4 0 5% 0 5 B7F 7T B7F ZF |3
b4 | 645 | b4 | 64F | b4 | 64 [ b | 65
1{Machi 1 <457 BR = 2 1114
2|NOCKS AT EE— B BT (KT 1E—) 1|1
3|PIXYER = BF BREAET |EREE 1)1 1 3
4|SUNS2004 I FF FA 2 2 4
5lhEBrDT =T L 51 1 101 3
IBT=Y 2 =7 =i ETE Rk PR ik AL 311)3(1 2 10
NWbEya=7 BB EXEETF e mETF EAR FER 11 2
N RS2V SAP4 M £YUF 5 Rl W BHEF 211 1] 4
FEHY 2 =7 W B ik B3k AR =Bk 212 | 4 2 10
WM 74=574— EARBEE 1 1
11|EEya=7 FiL X Wi E£8F [0 BE 1112 317
R2|HyyPaz=7 & =7 1 1
BlF&yFaE i =l IR EE EiE &S 1 1
14[8REF v X TR=EIN EAREE 211 1 4
15[/ F H % 1 1
6|EDFY 227 NGRS AN BF FEE 8% 11112 21118
17N FEP2z=7 WA I 1E =i 7 s 311216 3111|716
18[EMBC Ml R FEF BB (il [558) 1 1
1K) oy P G A JRHE = i F— W #=3E 112212 11119
20|@INya=7 A &4 4K E17  |BR fisE 1(1
21|82 =7 [E A=Y R B VAT TR IXBE BLF 1121 1 213110
22| B FENFER P8 A o B 3 3
23[> v b 7 =ZF) Tl BE 101 2
28|42 2 =7 & 18 HR EETF  |/IMR % 1 2 1 4
25|EE 1 =T REF B+ BE ME INEER WF 3 3
26|77 L MAX Jr. GBI FEF |[BOR it BER 111 2 116
27| ENNRBE—Y HER B A— 1 1
28| FREY 2 =7 NI 5P B EH EBR 1 1 1 3
9|FABY 1 =7 Gk KER =g 2 A 1 1|2
0B v FILX T ERT | RE MK 112111 2 |7
BIIEET RN X R R Hf ZBF |@H BN 2 11 1 21 1|7
REEY2=7 D BT 1 1 1 3
BINEFFyINFZ— BRI RE T=E &FE TEEF 1 1 3
NEF> 2T M B aH % RiE EX 131 )3]2 1 11
3[BINFETTAY 2T R AETF (ARHBIE=  (WE BN 2 11215
B|EAKFKY 2 =7 Bkl BiEBE IR FFR 1111 2 6
J7|ETHY 2 =7 NEF E& BA R =1l S 1 1 1 3
A EY 2T MH B INEY fEys Rk EX 1] 2 3
= 33 20 39]18|30]| 22 24 120|173




FACEEFRP VY I NVRKE (2-3-4%F) AfEE ETHMmHRAEEEE 20224128 10H
- s 9: 00AfEE 10 : 30AEE
No F—L% =4 0 5 0 5 B7F ZF B7F ZF B
2H3F4 H2 F3FA H2 F3FAH2 F3F 4 &
1 |[ACC=FFE)I TRy R |mFEF |FLBTF 3 1 4
2 |Machi 1 aiERmE |BRRE |BNPEBE (111 1 115
3 INOCKS AT EE |BHETF |0 1 1 2
4 |PIXYEF £k ED 1 1
5 |RSTY 2=7 PNt BBZ  |Santosh Rao|&&E f£& 1 1
6 |lBIEYa2=7 AR BA  PEBE KR |EEE B3 211 1 1 2 219
7TIMMEY 2T HE TR Big mEF |EAR FIR 1 1 1 3
K R ZAV XAV TH HKF |G BEE  |E BASTF 1 (1
9 |FEEY 2 =7 WO BE TR EE [T R 12 1] 4
04> 74=F4— AR BEEHE (FZARHEE) 11 2
11|58y a=7 12 B WA E8F B BA 11222 1 2 |10
2|1BLY2=7 ME R |fEH B | KEES 1)1 113
13|8REF v X EESN: e 1 112
BERFY 22T NGRS BE —B |MHEFRF 111
15|/NEY 2 =7 HBAEHY S B S £ B 312184 2 1]2 3|26
6|y E=H @ EFE— L0 isE 1 31112 3110
17Ny a=7 BT s [fe4 K F1T7 BN T4 1 1
18|48y a2=7 BRER |[BLR XEE LT 1012|1413 1 1115
19>+ b7 —=XF ) LA 7 | Fl BE 21113 1111 2 |11
20|27 A H#F  |BER EET |IMR % 1)1 1 1 115
21|vL42B. C gl &— |PHER 1 1
22 |[BEY =T REF B+ AR AETF 1 1
23 |7=# LMAX Jr. WH #ZEZ (B0 3B Hgith BER 1 1 113
20| FRAY 227 B AT |BF B |[#AEK 1 1
25 |f@fmY =T ALk KEB |#R3E 1 1 1 116
26|28> v fLX ARE AME MK |RE =8 1)1 2|7
2T |ET FNv R E BSIL RERE |BH RN 111 1| 4
28|@EY =T nog¥ 1111 3
29 (\EFF v IXNE7 BN KatE |[RAR EH 1 1 1 3
|NEFPa2zT IR BF R 5 Rig E= 11 1 1 (4
3MINFTAP 22T | AN ESR ARH = |/NREREZ 1 111 14
REAFY2=7 XA EE |BEBE |EER AR 1 1 1 1 115
B|EAEY 2 =7 N EE |BERER =) S 1111 1 1 1 6
|\ Atpe a7 HHERS |S8 R |FHE 1 1 2
a5t 32 12]18|24|18(32| 6 |10| 7 | 4| 7 28 |166




